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CLASS-2 CHAPTER 10 MATHS
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Indian Currency
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T10 : Ten rupees
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T1 : One rupee




Notes:

Rupee is a larger unit of money than paise.
We use 'p’ to write paise.

We use ‘Re’ to write rupee.

We use ‘Rs’ to write rupees.

We use dot (.) to separate rupees and paise.

Addition of Money

Addition of money is like normal addition, here we must add the Paise first
and then add the rupees.

Have a look at the given examples.

Example 1. Add Rs. 25.20 and Rs 15.25

Solution.Arrange the numbers in tabular format as shown below.

Rs. (Rupees) P (Paise)

1

20| 8 || 2 0

| |5 |w| 2 | 5

410 .| 4|5

Add the paise : 20p + 25p = 45p
Add the rupees : ¥ 25+315=% 40

So, the result is ¥ 40.45

Example 2. Add % 55.50 and X 24.75

Solution.Arrange the numbers in tabular format as shown below.



Rs. (Rupees) P (Paise)

111

5|15 1].] 5 0

241075

810 |.| 2 5

Subtraction of Money

Subtraction of money is like normal subtraction, here we must subtract the
Paise first and then subtract the rupees.

Have a look at the given examples.

Example 1. Subtract ¥ 34.23 from X 87.56

Solution. Arrange the numbers in tabular format as shown below.

Rs. (Rupees) P (Paise)

8 | 7 ].] 5|6

=1 3|4 |l 2] 3

S| & |w| 3|3

Subtract the paise first
56p - 23p = 33p

Then subtract the rupees
387 -334=%53

So, the result is ¥ 53.33

Example 2. Subtract X 26.75 from % 58.

Solution. Arrange the numbers in tabular format as shown below.



Rs. (Rupees) P (Paise)

7 1
51 8|./]07]0
- 2|6 715§
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